Algebra 2 Tiotes Mare, ey
Section 31 — Using Graghs and Tables o Solve Linear Systers (w7 Graphing Calc )

Recall that a ‘5\5 S¥eamn of equations is a set of two or more equations containing two or
more variables. A \wieax system is a system of equations containing only linear
equations.

On a graph of the system of two equations, the solution is the set of all points where the lines

wate rseck A g‘}t}% wt  is a solution to a system of equations if the x - and y - values
of the point satisfy _lootln  equations.
Example 1: Use substitution to determine if the given ordered pair is an element of the solution set fo
the system of equations.
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You can use your graphing calculator to graph a system of equations and then to find the solution. How do
we ge‘r the calculator to fmd the point of intersection? Once you have the system graphed, press the keys:
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Example 2: Use a graph and a table on your calculator to solve each system. Check your answer.
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Classifying Linear Systems

Exactly One Solution Infinitely Many Solutions No ;".:oluﬁq

The graphs are intersecting lines | The graphs are coinciding lines: | The graphs are parallel lines; they

with different slopes. they have the same slope and the | have the same slope but different
same y -intercept. Y -intercepts.
Example 3: Classify each system and determine the number of solutions.
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Example 4:  Application

Big Dog Snowboard Co. charges $15 for equipment rental plus $35 per hour for snowbearding lessons.
Half-Pipe Snowboards, Inc. charges $40 for equipment rental plus $25 per hour for lessons. For what
number of hours is the cost of equipment and lessons the same for each company? Solve by graphing on
your calculator once you have written your system of equations.
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